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One distances the Gefes, etc.; the reason is because there is a wall, etc.

Overview

The X1 derived from our 71wn (which stated that we distance the nox from the wall)
that if there is no wall in the other domain one may place the no3 adjacent to the
boundary, this seems to contradict X271 who maintains 7107 oK. Our MooIn clarifies
this question on X27.

- X295 HUP) W19

The explanation of this inference is that there is a difficulty with 829 who maintains
0% MoK (even if there is nothing being damaged on the other property) —

n1voIN asks:
= 09 P10 PRY DM PRYA TINDY 9919 INTI XON NOVIP NI NN

And it is astounding! what is the question?! Here by "21 noi it is certainly

permitted to be 720 when there is no wall since he is not damaging anything -
= 309)1 NN 90 M MYYY NT NNV

And when this other person will want to make a wall he will remove the nex —

N1DOIN answers:
- 9905 YW 1PN NIWAY YMAY PO ¥PIPN NN PYPYPN 99933 5307 Y U

And one can say that these items (121 n23) also ruin the ground and will cause

damage to the wall when it will be built, even if he will remove them before
building the wall —

! no3 is the residue of pressed olives in the process of making olive oil. na3a and the other items associated with it exude
heat (7277) which damages the wall. See °¥%077 7"71 noa 7"7 &,1° >"wA.
2 mooin uses the word w1d here to indicate that even though this is not understood so well, how this presents a
difficulty for 827 (as moon will soon explain), nevertheless we must say that the question is on &21!
3 27 ruled 7m0% MOR by a pit, for if he places his pit adjacent to the boundary, the other person will have to distance
himself the full six o°15v in his M (instead of the ‘required’ three o°roY, since the ground will be wet from the water
in the first 112). The problem is only when the other person wants to dig a pit and the first person will not want to stuff
up and close his pit. However here (by no3), initially there is certainly no problem (since there is no wall), and
ultimately there will also be no problem, since he can (easily) remove the noa.
4 The "»1 may mean that not only do they damage the wall (if there is one), they also damage the ground (which will
ultimately harm the wall). Alternately (preferably) it means that just like digging a 712 and filling it with water makes
the earth moist (thus damaging the other property), similarly here placing the no3 at the boundary ruins the ground.
See ‘Thinking it over’.
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Mmoo offers an alternate answer:
= 1719902 NIV YW IYN D927 PNYY 13929 9IIN NI

And furthermore says the >'' that by all these items (121 n93) there is a bother

to remove them,; it is not that simple and easy -
= D5 MYYY NIV IPHDY 91139 XD NNIY WIND W 2D 1oy 258 515 NNYN 7o

So therefore the neighbor can prevent him as of now from placing his noi there,
since there is the concern that he will not remove it promptly when the neighbor
wishes to build a wall —

mMooIn has an additional question:
= N299 7999 N NIN 59NN ON)

And if you will say; but still what is the challenge to X3 -
= SINYIND 51999 NN NPT NI NI YT DIVN DI¥Y NNPYL WD) NN

Since he previously explained the reason why one cannot be 7m0 a 713; since
every shovel full that you bang you loosen my earth —

MO0IN answers:
$19297 N2YUN NN 7999 ND NI 79097 2297 NN NIN 9INKP NI NNYO NINNT 9219 W

And one can say that this answer (of 121 X711 X1 %2) was only said to satisfy the
view of X271 even according to v'".2 However here the challenge to X271 was only
according to the 1121.°

Summary
One may not place 121 no3 on the property line (according to X27) either because it

ruins the ground (for building a wall), or because he may not remove it promptly
(>"). X271 does not necessarily employ the reasoning of X1 X1 93 (according to the
1127).

Thinking it over

3 This question seems to be (only) according to the >"7 R Tw.
¢ However here when he is placing the n93 on the border he is doing no damage at all (see footnote # 5).
" There is a dispute later in the 73w on 2,73 in a case where there is a M3 in the neighbor’s property, the onom maintain
that the other neighbor cannot plant a tree in his own property unless his distances the tree twenty-five nnX from the
13, while *"1 maintains there is no need to distance since he is planting the tree in his own property.
8 X217 argues that even " agrees with him, since the case of 112 is worse than the case of the tree, for by the M2 the
neighbor can say 131 X1 X 2.
9 According to the 13127 (who prohibit planting a tree within twenty-five ninX of a 112) the reason why it is MK to be
7910 a M2 to the border, because the neighbor can say, I also intend to dig a 712 (and the water in your 112 will prevent
me from digging my M2). This reasoning applies to No3 as well.
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Mmoo writes in his first answer!® that the no3 ruins the ground and ultimately the
wall. Seemingly when one builds a wall, he first digs out a foundation, so seemingly
any ground which was ruined will be excavated and removed, so why cannot he be
7210 the no3 to the property line.!!

10 See footnote # 4.
11 See mn MR 717 NO0.
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